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ECONOMIC APPLICATIONS -

section  1.4
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DEFH THE  COST  Function CC g) GIVES  THE COST  OF  PRODUCING  THE  QUANTITY g OF  SOME  GOOD .

IN GENERAL
, COST  OF  PRODUCTION  =  VARIABLE COSTS  +  FLXED  COST
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THIS  DEPENDS  ON THIS  Is  INCURRED  EVEN  IF  NOTHING
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THE  VARIABLE  COST  FOR  ONE  ADDITIONAL  UNIT  15  CALLED  THE  MARGINAL COST
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FIXED  COST  VARIABLE
cost

DEFN THE REVENUE FUNCTION Rlg ) GIVES THE  TOTAL REVENUE RECLEUED FROM

SELLING A QUANTITY g OF  SOME GOOD .

REVENUE  = ( PRICE I'M CHARGING # EM ) . (# ITEMS SOLD )

USING OUR NOTADON ABOVE
,

R( g) =Pg ,
WHERE p  = PRICE  YOU'RE SELUNG  EACH ITEM FOR
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THE  REVENUE FUNCRON Rlq ) § Cost  FUNCTION Clq ) MODELING MOMO & CO's FIRST  YEAR  OF

PRODUCTION 15 SHOWN BELOW . $
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WHEN  DOES MOMO & CO BEGIN  TO  MAKE•
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IN GENERAL
. . .  COMPANIES  WILL  BE  MAKING MONEY WHEN

REVENUE 77 COST

°
0 mDEFN  PROFIT  

=  REVENUE - COST
.  WE 'LL  DENOTE  THE PROFIT FUNCTION  BY

P(q).µ
)

#
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USING  OUR  NOTATION
,

P( g) =R( g) - C (g) . -

{ Pcq)
,

How
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MARGINAL REVENUE  = ~✓
MARGINAL PROFIT  =

rear. .
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"
Hi Noon Industries "

HAS  cost  &  REVENUE  FUNCTIONS ( IN  DOLLARS )
q#-afqf=→#aredaff⇒

oneness : •
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C (g) = 6000+108 AND Rlq) =

12g Hi Noon Industri .CI#pfyEyyk

•

FIND  THE  COST  &  REVENUE  IF Hi  Noon Industries  PRODUCES 500  UNITS .  DO  THEY MAKE A  PROFIT ?

WHAT  ABOUT
 5000  UNITS ?

FOR 500  UNITS :

C ( 500 ) = 6000  +  10<500 ) = $11,000 →  COSTOF  PRODUCING  500  UNITS  IS  $11,000 .

R( 500 ) = 126500 ) = $6000  → IF  COMPANY PRODUCES  500  UNITS
,

REVENUE  IS  $6000 .

SINCE  PROFIT  
=  REVENUE - COST

,

PC 500 ) = RGOO ) - CCSOO )

= 6,000- 11,000 = - $5000  < 0  ⇒DOES  NOT  MAKE  A  PROFIT .

FOR 5000  UNITS :

C L 5000 ) = 6000  + 106000 ) = $56,000

RLSOOO ) = 1255000 ) =  $60,000

PL 5000 ) = RESOOO ) - CCEOOO ) = 60,000 - 56000 =  $4000 > 0 ⇒  Does  make  PROFIT !
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#¥¥IT ( CONTINUED )
•

WHAT  Is THE MARGINAL  COST ? MARGINAL REVENUE ? MARGINAL PROFIT ?

• WHAT  Is THE BREAK - EVEN  POINT  FOR  Hi  Noon Industries ?

THE  BREAK EVEN POINT WILL  BE WHEN  REVENUE  = COST WE 'LL  SET RL g) =C(g )
,

THEN  SOLVE  FOR

g TO FIND  THE # OF  ITEMS  WHICH  MOST  BE  PRODUCED IN  ORDER  TO  BREAK  EVEN .

Rcg ,=c( g) → 12g = 6000+109
pstztgopgreuantiffumehvst-
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109 BE  PRODUCED
.
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¥¥€€| HAPPY HOUND COFFEE COMPANY HAS  THE  FOLLOWING COST & REVENUE  FUNCTIONS
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( IN DOLLARS ) THAT  MODEL THE COST & REVENUE  OF  PRODUCING & SEWING

#§Pdf Cf BAGS  OF  DOG - THEMED COFFEE  BEAN BLENDS ,Histoire
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FIND THE  BREAK EVEN
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AS BEFORE
,

THE  BREAK  EVEN  POINT  WILL  BE  WHEN Rcq ) = CLG ) .

Rlq ) =CCg) GIVES :

75g = of
2- 100g +7500  →  NOWWE  WANT to  SOLVE  FOR g.

CAREFUL :  THIS  Is  A  QUADRATIC !

q2 - 175g+7500=0 → EITHER FACTOR  OR USE QUADRATIC FORMULA .

÷ AD , Formula :  GIVEN  a×2+b×+C=0 ' .

}
IN  OUR  CASE .

.at#l75,C=75oox=-b+i/b2-4a=g=  175=1/47512-44×75029
2
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